3 14
()-1 -1
()-1
3, 330, 000 11,600 /
1
(1) 3 7 1 (9 3 7 10 (61 3 1] !
11
(2 3 6 15 (5)
(3)
2
(1) 287
()] ( )
5.2m (
1:1.2 2 20. 5km
2 350 200 100 100
15 20 300
20. 5km
(3 (4) 0.0
11,600 /
(5)
/
/
/
(6)
(7
(8 = - 0.0 2.0
0.0 +4.0
-3 (1) 0.0 +43.0
[ 99.2]| 100 100 |[ 100.0] 4 600 %‘8 ‘%8
17,700 | 100 |[ 10L.0]|[ 150.1]| 100 : 0.0 '
(9 0.0 2.0
0.0 +3.0
( )-5 (1) 0.0 +50. 0
[ 98.3]| 100 100 |[ 100.0] 11 600 8'8 8‘8
17,900 |/ 100 |[ 100.0]|[ 151.4]| 100 : 00 :
(10 -1
- ]
11,900 /
)
] (|
/
-2.5 |




3 7 13
( )-2 -1
()-2
10, 500, 000 37,200 /
1
(1) 3 7 1 (9 3 7 8 (61 3 ] !
1.1
(2 3 6 17 (5
(3
2
(1) 281
()]«
()
( 60, 200 )
1:1.5 am ( )
(2 100 100 50 100
14.0 18.0 250
)
3. 6km (160, 160)
(3 (4) +2.0
5) 37,200 /
16,200 /
/
/
(6)
(7
(8) (| - 0.0 +1.0
0.0 +5.0
-2 (1) 0.0 -1.0
[ 99.3]] 100 100 [ 102.0] 57 200 +(5)'8 8'8
40,500 / 100 |[ 105.0]|[ 105.0]| 100 ’ 0.0 :
(9
(1)
[ 1| 100 100 [ ]
/ 100 | 11 1| 100
(10) -1
- ]
37,700 /
-2
1 1
/
-1.3 |




3 7 13
( )-3 -1
()-3
6, 660, 000 28,700 |
1
(1) 3 7 1 (9 3 7 (61 3 ] !
1.2
(2 3 6 17 (5)
(3
2
(1) 232
()]«
()
( 60, 200)
1:1.2 am ( )
2 700m ( 60, 160)
(2 30 200 50 100
14.0 18.0 250
)
700m ( 60, 160 )
(3 (4) +2.0
5) 28,700 /
/
/
/
(6)
(7
(8) (| - 0.0 +1.0
0.0 +2.0
-2 I ) 0.0 +32.0
[ 99.3]] 100 100 [ 102.0] 28 700 +(5)'8 8'8
40,500 / 100 |[ 105.0]|[ 136.0]| 100 ' 0.0 :
(9) 0.0 0.0
0.0 -3.0
()-2 /) 0.0 +33.5
[ 98.7 ]| 100 100 |[ 102.0] 28 700 +(2)'8 8‘8
37,700 / 100 |[ 102.0]|[ 129.5]| 100 ' 0.0 :
(10) -1
- ]
29,200 /
-2
1 1
/
-1.7 |




7 14
()-4 1
()-4
6, 020, 000 22,900 |
1
(1) 3 7 1 (9 3 7 10 (61 3 1] !
11
2 3 6 15 |[(5
(3)
2
(1) 263
()] (
()
( 70, 200)
1:1.2 5.3m (
2 5. 6km
2 150 150 80 100
14 18 250
()
5. 6km ( 70, 200 )
(3 (4) 0.0
22,900 |/
(5)
10,300 /
/
/
(6)
(7
(8 = - 0.0 2.0
0.0 +2.0
-3 (1) 0.0 -24.0
[ 99.2]| 100 100 |[ 100.0] 25 500 %‘8 8‘8
17,700 | 100 |[ 10L.0]|[ 76.0]| 100 : 0.0 '
(9 0.0 2.0
0.0 +2.0
( )-2 (1) 0.0 +60. 0
[ 98.7]| 100 100 |[ 100.0] 2 800 +(2)'8 8‘8
37,700 |/ 100 |[ 102.0]|[ 159.9]| 100 : 00 :
(10 -1
- (]
23,200 /
)
] (|
/
-1.3 |




3 7 13
( )-5 -1
()-5
8, 680, 000 17,600 |
1
(1) 3 7 1 (9 3 7 8 (61 3 1] !
11
2 3 6 17 [(5
(3)
2
(1) 493
()] ( )
1.2 4.2m (
1 10km
2 200 60 50 50
20.0 25.0 500
10km
(3 (4) 0.0
- 17,600 |
/
/
/
(6)
(7
(8 = - 0.0 0.0
0.0 +1.0
-3 (1) 0.0 -5.0
[ 99.2]| 100 100 |[ 100.0] 17 600 %‘8 ‘%8
17,700 | 100 |[ 10L.0]|[ 98.8]| 100 : 0.0 '
(9
Cr)
[ 1| 100 100 |[ ]
/ 100 | il 1| 100
(10 -1
- (]
17,900 |/
)
] (|
/
-1.7 |




3 7 14
( )-6 -1
( )-6
7, 270, 000 10,500 /
1
(1) 3 7 1 (9 3 7 10 (61 3 ] !
11
2 3 6 15 |[(5
(3)
2
(1) 692
()] (
6m (
151 18. 5km
2 70 70 150 150
27 20 540
18. 5km
(3 (4) 0.0
10,500 /
(5)
/
/
/
(6)
(7
(8 = - 0.0 4.0
0.0 +9.0
-3 (1) 0.0 +54.0
[ 99.2]| 100 100 |[ 100.0] 10500 %‘8 ‘%8
17,700 | 100 |[ 10L.0]|[ 166.0]| 100 : 0.0 '
(9 0.0 -4.0
0.0 +8.0
( )-5 (1) 0.0 +61.0
[ 98.3]| 100 100 |[ 100.0] 10,500 8'8 8‘8
17,900 |/ 100 |[ 100.0]|[ 166.9]| 100 : 00 :
(10 -1
- (]
10,700 /
)
] (|
/
-1.9 |




